= HEFETA (28) Tube Fitting (Black)

BETE
Branch Tee

B {37 (Unit): m/m

Model Tu%ia' E © oP A R H B L Mass(g) | Orifice
PD4-M3 4 |M3X0.5| 8 | 162|142 | 32 | 11
PD4-M5 3.3 |[M5X08| 8 | 155|138 | 48 | 2
PD4-M6 1 ferid | socon | [ 4 |M6X1.0| 10 | 162 | 142 | 45 | 25
PD4-01 7 | pTs| 10 | 172|137 | 76 | 4
PD4-02 96 | PT1/4| 14 | 202 | 152 | 166 | 4
PD4-03 96 | PT3/8| 17 | 202 | 152 | 196 | 4
PD6-M5 9.8 48 |M5%X0.8| 8 | 165|157 | 66 | 2
PD6-M6 13.9 4 |[M6X1.0| 10 | 175|155 | 55 | 25
PD6-01 6 18.1 10 7 | PT1/8| 10 | 184 | 144 | 96 | 4
PD6-02 143 96 | PT1/4| 14 | 217 | 169 | 182 | 4
PD6-03 96 | PT3/8 | 17 | 212 | 168 | 22 4
PD8-01 7 | PT1/8| 10 | 214 | 175 | 14 5
PD8-02 96 | PT1/4| 14 | 222 | 165 | 20 | 54
£ B 8 | 233|156 | 136
g | PD8-03 96 | PT3/8 | 17 | 221 | 17.9 | 248 | 54
| | P PD8-04 7 | PT12| 21 | 222|178 | 386 | 54
gg[{ il ""': i | PD10-01 e 7 | PT18| 15 | 247 | 195 | 244 | 5
e ﬂ[ Lol | PD10-02 N e ’ 167 |96 | PT14 | 15 | 245 | 196 | 258 | 8
J NR PD10-03 ' ’ 12 | PT3/8 | 17 | 275|213 | 308 | 9.76
A PD10-04 =07 125 | PT12 | 21 | 275|211 | 42 | 976
PD12-02 96 | PT1/4| 15 | 265|213 | 316 | 5
% <ﬁ PD12-03 12 | 314 | 235 | 196 | 96 | PT3/8 | 17 | 265 | 215 | 366 | 65
R PD12-04 12 | PT12| 21 | 265|217 | 478 | 65
Metric thread type
DHIFRIR
TR
ﬁ Branch Tee
CAD L CAD - Tr(UT )
Model |\M35™ £ | c |@P| A | R | H | B | L |Vesw) Orfce
PD3-M3-NI 3 |M3x05| 8 | 152 | 137 | 36 | 1.1
PD3-M5-NI 3 154 | 12.7 8 3.3 [M5X0.8| 8 155 | 13.8 3.6 2
PD3-M6-NI 4 M6X1.0| 10 16.2 | 14.2 5.4 2
PD4-M3-NI 4 M3X0.5| 8 16.2 | 14.2 4.1 1.1
PD4-M5-NI 33 |M5x0.8| 8 | 155 | 137 | 57 | 2
PD4-M6-NI . e 4 |MeX1.0| 10 | 162 | 142 | 54 | 25
PD4-01-NI PT1/8| 10 | 17.2| 137 | 85 | 4
PD4-02-NI 96 | PT1/4| 14 | 202 | 152 | 175 | 4
PD4-03-NI 96 | PT3/8| 17 | 202 152 | 205 | 4
PD6-M5-NI 9.36 48 [M5X0.8| 8 165 | 157 | 7.4 2
PD6-M6-NI 135 M6X1.0| 10 | 175 | 155 | 63 | 25
PD6-01-NI 6 17.6 10 PT1/8| 10 | 184 | 144 | 104 | 4
PD6-02-NI 13.9 96 | PT1/4| 14 | 217 | 169 | 19 | 4
a E e LB PD6-03-NI 96 | PT3/8| 17 | 212 | 168 | 228 | 4
— PD8-01-NI 7 | PT18| 10 | 214|175 | 163 | 5
g gEQ i - : D | PD8-02-NI g | 228|152 | 96 |PTU4| 14 | 222|165 | 223 | 54
e JJ[ L__1L | PD8-03-NI “ | 96 | PT3/8| 17 | 221 | 17.9 | 271 | 54
| J \R PD8-04-NI 26.1 | 17.1 7 | PT12| 21 | 222 | 178 | 409 | 54
A PD10-01-NI 17.1 7 | PT1/8| 15 | 247 | 195 | 282 | 5
PD10-02-NI 96 | PT1/4| 15 | 245 | 196 | 296 | 8
—— =" 1 10 16.7
% <Lﬁ PD10-03-NI 26.1 | 203 12 | prais| 17 | 275 213 | 346 | 976
R PD10-04-NI 125 | PT1/2| 21 275 | 211 | 458 | 9.76
Metric thread type PD12-02-NI 96 | PT1/4| 15 | 265 | 21.3 | 39 5
DHIFRIR —— ——
PD12-03-NI 12 | 299 | 22 | 196 | 96 | PT3/8| 17 | 265 | 215 | 44 | 65
PD12-04-NI 12 | PT12| 21 | 265 | 217 | 552 | 65

NI: S EIAEE

NI:Release Ring (Metallic Body)




BETE
Branch Tee

can

B {3 (Unit): m/m

Model Mg g | ¢ |gp| A | R | H | B | L |Mes@] Orifce
PD4-M3 4 |M3X05| 8 | 162|142 | 32 | 1.1
PD4-M5 33 |M5X0.8| 8 | 155|138 | 48 | 2
PD4-M6 2 e e | & 4 |M6x1.0| 10 | 162 | 142 | 45 | 25
PD4-01G 4 | cus | 10 | 177|157 | 76 | 4
PD4-02G 5 | G4 | 14 | 1941 | 164 | 154 | 4
PD4-03G 5 | Gas | 17 | 191 | 164 | 184 | 4
PD6-M5 9.76 48 |msxo8| 8 [165 157 | 66 | 2
PD6-M6 13.9 4 |mex1.0] 10 [ 175|155 | 55 | 25
PD6-01G 6 | 18.1 10 4 | cus | 10 [ 189|164 | 96 | 4
PD6-02G 14.3 5 | Gua | 14 | 205181 ] 17 | 4
PD6-03G 5 | Gas | 17 [ 201 ] 18 | 208 | 4
PD8-01G 4 | Gus | 10 [219|195] 186 | 5
CE - LB . PD8-02G s | 233|156 | 126 L5 | G4 | 14 [214]177 [ 188 ] 54
T | PD8-03G 5 | Gas | 17 | 21 | 191 | 236 | 54
a 8[6: ﬂ[ ] , Py j_ PD8-04G 10 | 612 | 21 | 235|185 | 352 | 54
&l ML 1L | PD10-02G —_— 5 | G114 | 14 | 234|181 | 25 8
& PD10-03G 10 | 26.8 167 | 72 | G358 | 17 | 255 | 216 | 312 | 976
o PD10-04G 20.7 10 | G172 | 21 | 251|201 | 39 | 9.76
PD12-02G 10 | G14 | 14 | 269 | 219 | 308 | 5
—_— E— PD12-03G 12 | 314 [ 235 (196 | 85 | G3/8 | 17 | 255 | 213 | 352 | 65
<L% PD12-04G 10 | G2 | 21 | 269 [ 219 | 448 | 65
Metric thread type
AFIFEI
P B
G+NI Branch Tee
m \SIABE B (Unit): m/m
Model ™5™ £ | ¢ |gp| A | R | H | B | L |Mess@]|Orfice
PD3-M3-NI 3 |M3x05| 8 | 152|137 | 36 | 1.1
PD3-M5-NI 3 |154 | 127 | 8 | 33 |M5x08| 8 | 155|138 | 36 2
PD3-M6-NI 4 |Mex1.0| 10 | 162 | 142 | 54 2
PD4-M3-NI 4 |Mm3x05 162 | 142 | 41 | 11
PD4-M5-NI 3.3 |M5X0.8 155 | 13.7 | 5.7 2
PD4-M6-NI s |1ss | 125 | 8 4 |Mex1.0| 10 | 162 | 142 | 54 | 25
PD4-01G-NI 4 | Gcus | 10 | 177 | 157 | 85 4
PD4-02G-NI 5 | G4 | 14 | 191 | 164 | 163 | 4
" PD4-03G-NI | 4 | G38 | 17 | 191 | 16.4 | 2041 4
PD6-M5-NI 9.36 48 |msx08| 8 | 165|157 | 7.4 2
" PD6-M6-NI | 13.5 4 |M6x1.0| 10 | 175 | 155 | 63 | 25
PD6-01G-NI 6 |177 10 4 | cus | 10 [ 189|164 | 104 | 4
c 5 " PD6-02G-NI | 13.9 5 | G1/4 | 14 | 205 | 181 | 178 | 4
R L | PD6-03G-NI 5 | Gas | 17 | 201 18 | 216 | 4
T T D= PD8-01GNI 4 | G18 | 10 | 219 | 195 | 209 | 5
§ 8[6: W ' (nen PD8-02G-NI 6 | 206|152 | 136 |5 | G4 | 14 [211[177 | 211 ] 54
| & I _UL 1oL PD8-03G-NI : : 5 | G3i8 | 17 | 21 | 191 | 259 | 54
Cj‘ \R PD8-04G-NI 17.8 10 | G12 | 21 | 235 | 185 | 375 | 54
A PD10-02G-NI 5 | G4 | 17 | 234 | 181 | 288 | 8
= | | PD10-03GNI | 10 | 262 | 775 | 167 [72 | Gals | 21 | 255 | 216 | 35 | 976
U <Lﬂ;0¥ PD10-04G-NI 19.8 10 | 612 | 21 | 251 | 201 | 428 | 976
R PD12-02G-NI 10 | G14 | 14 | 269|219 | 382 | 5
Metric thread type PD12-03G-NI | 12 | 299 | 22 | 196 | 85 | G3/8 | 17 | 255 | 213 | 426 | 65
AHIFFEIR e
PD12-04G-NI 10 | G12 | 21 | 269|219 | 522 | 65

GEBEF (PFES) G:BSPP Thread
NI: & EBiREHR NI:Release Ring (Metallic Body)




. T2 HEIETA (E) Tube Fitting (Ivory)

BETR
Branch Tee

B {3 (Unit): m/m

Model Tu%aéﬁa' E G oP A R H B L Mass(g) | Orifice
PD4-M3-W 4 |M3X0.5| 8 16.2 | 142 | 3.2 1.1
PD4-M5-W 33 [M5X0.8) 8 | 155|138 | 48 | 2
PD4-M6-W i || e | @ 4 |[MeX10| 10 | 162 | 142 | 45 | 25
PD4-01-W 7 |Prus| 10 [ 172137 | 76 | 4
PD4-02-W 96 | PT1/4 | 14 | 202 | 152 | 166 | 4
PD4-03-W 96 | PTais | 17 [ 202 | 152 ] 196 | 4
PD6-M5-W 9.8 48 [M5x08] 8 [165 [ 157 | 66 | 2
PD6-MB-W 13.9 4 [mex10| 10 [ 175 [ 155 | 55 | 25
PD6-01-W 6 | 181 10 | 7 [PTus| 10 [ 184|144 | 96 | 4
PD6-02-W 14.3 96 | PT1/4| 14 | 217 | 169 | 182 | 4
PD6-03-W 96 |Pram| 17 [ 212|168 | 22 | 4
2 - B PD8-01-W 7 |prus| 10 [214 175 14 | 5
C L PD8-02-W 6 | 233 | 156 | 136 |26 | PTU4| 14 | 222|165 | 20 | 54
TTRRRAE PD8-03-W 96 | Pra | 17 [ 221|179 ] 248 | 54
S 8[6: W —I— PD8-04-W 7 |prie| 21 [ 222178 | 386 | 54
e -1k PD10-01-W 7 |prus| 15 [ 247 [ 195 | 244 | 5
R —_— 17.5
\ o/ N PD10-02-W 96 | PT1/4| 15 | 245|196 | 258 | 8
————— 10 | 266 16.7
PD10-03-W 12 | Pras| 17 | 275 [ 213 | 308 | 98
PD10-04-W 20.7 125 | PT12 | 21 | 275 [ 211 | 42 | o8
<}__E PD12-02-W 96 |PT1/4| 15 | 265|213 ] 316 | 5
T .00 PD12-03W | 12 | 314 | 235 | 196 | 96 | PT3/8 | 17 | 265 | 215 | 366 | 65
AR PD12-04-W 12 | PT12 | 21 | 265 | 217 | 478 | 65
I TE
m Branch Tee
& (258 B (i1 (Unit): m/m
Model |\ g | c |@P| A | R | H | B | L |VesO|Orfce
PD3-M3-NI-W 3 |M3x05| 8 |152 [137 | 36 | 11
PD3M5N-W | 3 | 154 | 127 | 8 | 33 [M5x08] 8 [155 [138 | 36 | 2
PD3-MB-NI-W 4 |mex1.0] 10 |162 [142 | 54 | 2
y PD4-M3-NI-W 4 |M3x05| & |162 |142 | 41 | 1.1
C 4 PD4-M5-NI-W 33 |msx08| 8 [155 [137 | 57 | 2
% PDAMENEW |, | ool og | g |4 |MEX10] 10 [ 162 [142 | 54 | 25
, PD4-01-NI-W 7 | pTus| 10 [172 [137 | 85 | 4
& W < @ PD4-02-NI-W 96 | PT1/4| 14 [202 [ 152 | 175 4
PD4-03-NI-W 96 | PT3B| 17 | 202 | 152 | 205 | 4
PD6-M5-NI-W 9.4 48 [M5x08| 8 [165 [157 | 74 | 2
PD6-MB-NI-W 13.5 4 |mex1.0] 10 |175 [155 | 63 | 25
PDB-01-NI-W 6 | 176 10 | 7 [ prus| 10 | 184 [144 | 104 ] 4
PD6-02-NI-W 13.9 96 | PT1/4| 14 [217 [169 | 19 | 4
S P PD6-03-NI-W 96 | PTas| 17 [212 [ 168 | 228 4
T h — PD8-01-NI-W 7 | pTus| 10 |214 [175 | 183] 5
& g[& ili ian | PD8-02-NI-W 28 | 152 96 | PT1/a| 14 | 222 [165 | 223 | 54
g Iy ! PD8-03-NI-W 8 38 76 [ pram| 17 | 221 | 170 | 271 | 54
| il | . \R PD8-04-NI-W 26.1 | 17.1 7 | pTi2] 21 | 222 [178 | 409 | 54
PD10-01-NI-W 17.1 7 | PTus| 15 | 247 [195 | 282 | 5
PD10-02-NI-W 96 | PT1/4| 15 | 245 | 196 | 296 | 8
LA L T 16.7
% <Lﬁ PD10-03-NI-W 26.1| 203 12 | PT3/8| 17 | 275 [ 213 | 346 | 9.8
R PD10-04-NI-W 125 | PT1/2| 21 | 275 | 211 | 458 | 9.8
Mi%ﬂ;—fgﬁ%d type PD12-02-NI-W 96 | PT1/4| 15 [ 265 [213 | 39 | 5
PD12-03NIW | 12 | 209 | 22 | 196 | 96 | PT38| 17 [265 [215 | 44 | 65
PD12-04-NI-W 12 | PT12| 21 | 265 |217 | 552 | 65

NI: £ ERRREE

NI:Release Ring (Metallic Body)




B ETEY
Branch Tee

B{I(Unit): m/m

Model \M5™ £ | ¢ | @P| A | R | H | B | L |Mesio)orice

PD4-M3-W 154 | 127 4 | M3x05 | 8 |162|142| 32 | 1.1

PD4-M5-W 159 | 132 33 | M5x0.8 | 8 | 155|138 | 48 | 2

PD4-M6-W 159 | 132 4 | Mex10 | 10 | 162 | 142 | 45 | 25

pDaoiGW | 4 8 4 G18 | 10 |172|157| 76 | 4

PD4-02G-W 157 | 127 5 | G4 | 14 | 202|164 | 154 | 4

: PD4-03G-W 5 G38 | 17 | 202 | 164 | 184 | 4

’ PD6-M5-W 181 | 9.8 48 | M5x08 | 8 | 165|157 | 66 | 2

PD6-M6-W 177 | 139 4 | Mex10 | 10 | 175|155 | 55 | 25

PD6OIGW | © 10 74 G18 | 10 | 184 | 164 | 96 | 4

PD6-02G-W | 181 | 143 5 | G4 | 14 |217 | 184 | 17 | 4

. . PD6-03G-W | 5 | a3 | 17 [212] 18 | 208 | 4

C ' F N PD8-01G-W 4 G18 | 10 | 214|195 186 | 5

L TN = PD8-02G-W 15.6 5 | G4 | 10 222|177 | 188 | 54

§ 3[6: il WAThN pososcw | ° |23 B 75 | cas | 14 |221 191 | 236 | 54
T -k PD8-04G-W 18.8 10 | G12 | 17 | 222|185 352 | 54
| \R PD10-02G-W s 5 | G4 | 15 | 245|181 | 25 | 8

PD10-03GW| 10 | 2656 16 | 72 | G38 | 17 |275] 216 312 | 98

—— | | PD10-04G-W 20.7 10 | G2 | 21 | 275|201 | 39 | 98

U <LD¥ PD12-02G-W 10 G1/4 15 | 265|219 | 30.8 5

R PD12-03GW| 12 | 314 |235| 19 | 85 | G3/8 | 17 | 265|213 | 352 | 65

Dj"}e%‘ﬂ%‘gﬁ;gd type PD12-04G-W 10 | 612 | 21 | 265|219 448 | 65

PD Lo
G+NI Branch Tee

& SABl WEABE 8 (i (Unit): m/m
Model |M865™ g | ¢ | @P| A | R | H | B | L |Mes|orice

PD3-M3-NIW 3 | M3x05]| 8 |152]137] 36 | 1.1

) PD3MSNIW | 3 | 154 [127 | 8 | 33 | M5x08 | 8 | 155|138 | 36 | 2

PD3-MB-NI-W 4 | Mex10 | 10 | 162|142 | 54 | 2

PD4-M3-NIW 154 | 127 4 | M3x05| 8 |162 142 | 41 | 1.1

PD4-M5-NI-W 156 | 12.9 33 | M5x08 | 8 | 155|137 | 57 | 2

PoameNw | 156 [120| . |4 [Mexo[ 10 [162]1a2] 54 | 25

PD4-01G-NIW 4 | cus | 10 |177 157 | 85 | 4

PD4-02G-NFW 153 | 123 5 | G144 | 14 | 191|164 | 163 | 4

PD4-03G-NFW 5 | G38 | 17 | 164|164 | 201 | 4

PD6-M5-NIW 176 | 9.36 48 | M5x08 | 8 | 165|157 | 74 | 2

PD6-ME-NI-W 173 | 135 4 | Mex10 | 10 | 175|155 | 63 | 25

PD6OIGNIW | 6 10 | 4 | cus | 10 [189|164 | 104 | 4

E B PD6-02G-NHW 177 139 5 | Gi4 | 14 | 205|181 | 178 | 4

c i ! nL:r { PD6-03G-NHW 5 | Ga | 17 |201] 18 | 216 | 4

8 3[& 1 A I PD8-01G-NHW 4 | cus | 10 219195 | 209 | 5
e I PDSO2GNW | 8 | 220 [152 | 136 | 5 | &4 | 10 214|177 ] 211 | 54
PD8-03G-NW 5 | cas | 14 | 21 [19.1 | 250 | 54

Cj B & PD8-04G-NHW 226 |17.8 10 | G2 | 17 | 235|185 | 375 | 54

PD10-02G-NI-W 5 | G4 | 15 | 234|181 ] 288 | 8

=" | , pot00soNw| 10 | 282 |75 | 467 72 | Gale | 17 | 255|216 | 35 | 98

<]_D“ PD10-04G-NIW 258 | 19.8 10 | ot2 | 21 [251 201 | 428 | 98

Metrc troad type  PD1Z02GNEW 10 | G4 | 15 | 269|219 | 382 | 5

NEEFRIZ PD12-03GNIW| 12 | 200 | 22 | 106 | 85 | Gais | 17 | 255|213 | 426 | 65

PD12-04G-N-W 10 | 612 | 21 |269 219 | 552 | 65

GrEREF(PFES) 6:BSPP Thread
NI: /EREER

NI:Release Ring (Metallic Body)




